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Immunology
M. Sc. ZOOLOGY (MSCZ0-12)
Second Year, Examination, 2017

Time : 3 Hours Max. Marks : 60

Note : This paper is of sixty (60) marks containing three
(03) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.
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(Long Answer Type Questions) / (&€ IR 7%)

Note : Section ‘A’ contains four (04) long answer type
questions of fifteen (15) marks each. Learners are
required to answer two (02) questions only.
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1. What is Immunoglobulin ? Explain its structure with

function. 3,12
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REANARM 1 8 ? e WA &1 1 wAfed
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What is complement ? Explain the mechanism of
complement activation pathways. 3,12
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What is hypersensitivity ? Explain its types with their
hypersensitive responses. 3,12
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What is vaccination ? Describe the major different
types of vaccines for human being . 3,12
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Section-B / Yvs—Y
(Short Answer Type Questions) / (79 STRIT U%)

Note : Section ‘B’ contains eight (08) short answer type

e

1.
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questions of five (05) marks each. Learners are
required to answer four (04) questions only.
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What is the basic difference between necrosis and
apoptosis ? 5
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Write a short note on natural killer cells. 5
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Write a short note on immunogenicity and antigenicity.
5
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What is MHC ? Explain the structure of MHC | and
HMC Il 1,4
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What is interferons ? Explain the antiviral activity of

each IFN o and B respectively. 1,4
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What is Hybridoma ? How the B and T-cell hybridoma
are produced by somatic cell hybridization ? 1,2,2
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What is ADCC ? Explain. 5
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What is a basic difference between CD, and
CDgcells ? 5
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Section-C / Yvs—TT

(Objective Type Questions) / (A& T)

Note : Section ‘C’ contains ten (10) objective type
questions of one (01) mark each. All the questions
of this section are compulsory.
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Choose the correct alternative.
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1. Cell mediated immune responses are :
(@ Enhanced by depletion of complement
(b) Enhanced by depletion of T-cells
(c) Depletion of macrophages

(d) Depletion of B-cells
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2. The first cell which reaches at the site of infection :
(a) Basophil
(b) Eosinophil
(c) Neutrophil
(d) Macrophages
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Antigenic determinant in the antibody is :
(@) Epitope

(b) Paratope

(c) Idiotope

(d) Haptane
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Lysozyme are the :

(@) Antibacterial

(b) Antiviral

(c) Both of the above

(d) None of the above
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Primary lymphoid organ is :
(@ Spleen
(b) Lymph node
(c) Thymus
(d) MALT
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B-cell differentiated into :
(@) Cytotoxic cell
(b) Memory cell
(c) Plasma cell
(d) Both (b) and (c)
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Fe Fragment of the antibody was digested by the

following enzyme ?
(@) Papain

(b) Pepsin

(c) Renin

(d) Amylase
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The immunoglobulin which is responsible for the
allergy is :

(@ IgM

(b) 1gA

(c) IgE

(d) 19G
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Tuberculin test is performed for the :
@ TB

(b) Cancer

(c) Polio

(d) None of the above
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(@) P=R B forv
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10. Bloodisa:

(@) Connective tissue

(b) Liquid connective tissue

(c) Organ

(d) None of the above
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